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ukV & 1*u 1= rhu [k.Mk e: folkDr g A BHkh rhu [k.Mk di 1"u funi*ku Bkj gy
dift; A vdk dk foHktu 1R;d [k.M e fn;k x;k g A

Note: Question paper is divided into three sections. Attempt question of all three section
as per direction. Distribution of Marks is given in each section.

[K.M & "/* Section - 'A"

viry?Rrjh; 1"u ivYr "kink e
Very short type question.

g1 faeifed uot § 9 fe<l B gzl o g IR — 6x2=12
Attempt any six question from the following questions :
() fReI® weddy W 81y RIT I9s7d § ?

What do you understand by useless correlation ?

(i) ¥ T D MR R FSHG UMb DI TOMT FF I8 |

Give formulae of computation coefficient of correlation by square of values.
(i) ST BT yAY fauw T ® °?

What is the standard error of the estimate ?
(iv) fI=RoT @7 U &I 7 ?

What is the ratio of variation ?
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v)

(vi)

(vii)

(viii)

(ix)

)

@)
QYT Jed e fhd Fed § 2

What is consumer price index Number ?

T SSHRIAT GRG0 BT qHLSY |

Explain time reversal test.

fig eMmme Fa1 B ?

What is Point-Estimation ?

qTee—qelhITdsT URIeToT FT 3 ?

What is Wald-Wolfoviz test ?

fafer fei=ror | &g @ e € °?

What do you understand by process control ?

g9 g | g ?

What is C-chart ?

[k.M & "c* Section - 'B'

Y2Rrjh; 1°u 4200 "kCnk et

Short answer question (In 200 words)

v2 f=ifed el § 9 f) aR gl & g I | 4x5=20
Attempt any four question from the following questions :
() G udoe wRoferd fewft forlay |
Write a short note on linear Regression.
(i) 9 I A 9 S —
Find from the following information :
3x=y ; 8y= 6X
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(iii)

(iv)

v)

(vi)

(vii)

3

T Aol & HeHaY lid Pl AASTSY |
Explain zero-order coefficient correlation.

g dey @ fafa= yeR @ § ?

What are the different types of correlation ?
= @1 derg # ey —

Explain the following in brief :

(i) 3Fd FHY (Infinite population)

(i)  ®rea=® F9T (Imaginary population)
(i)  1f~dd AT (Critical value)

HIRBI 07 0T A 37T T [T & ° SN H 50! SYIIAIT Bl
IeeRd I |

What do you understand by statistical quality control ? Discuss its need
and utility in industry.

U IUTGdh I AT BRal © b IHD gIRT (AT 20 Sbreal H 2 Ffeyol
21 100 9FT & forv ufqwrd & MR W) fi=or || s1a ST |

A manufacture finds that on an average 2 in 20 items produced by him is

defective. Prepare control limit for percentage defective samples for size
100.

[K.M & "I* Section -'C’

ni%k mRrjh; 1°u Yfuc/kRed?

Long answer/Essay type question.

f=iferd ueal & 9 fhl IR Ul B 8 DI — Ax12=48

Attempt any six question from the following questions :

(i)

fereAferiae wHe 1 oINTd $iR S<ares & dia dexide o Hdret —
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(1)

(iii)

(iv)

v)

(4)
From the following data calculate correlation coefficient between the cost
and the producation :-
T (Cost) 5% 70 50 20 52 14 32 60 25 60
3crqd (Production) 34 35 58 60 40 50 42 35 36 42
3Ry AEdey T © ? AR iR srRerfcy Aedae Tolid & ISUANT
&1 UH SaTeRvT SRR | 1 gl & #ed SRf wesdde ol et fa=i=
& \Edey e 3 fhg yeR e 8 ?

What is rank correlation ? Give an example of the use of rank and rank

correlation coefficient. How does the coefficient of rank correlation between

the variables differ from Karl Pearsons coefficient of correlation.
3Maep! o= e & TS © -
The following information are given to you :-
ST DI — (Find out) :
1. M UAIITAA FHIART (Both Regression Equation)
2 X T Y SO & Heg AE—Had 0l
(Coefficient of correlation between X and Y series)
YA oIl “faeReT & Srurd’ faemRl &l FHsTgy T2 e SIgHer
D &F H SAPT AEd g1 |

Explain the concept of "Regression’ and "Ratio of Variation" and state thier

utility in the field of economic enquries.

FfeTRaT Mceal @ 2 AT 1993 & IMER T TAY H 2001 B 3MER
qHR & 1 & —

Given below are two sets of indices one with 1993 base and the other with
2001 as base :-

(A) Year 1993 1994 1995 1996 1997 1998 1999 2000 2001
Index No. 100 120 130 200 300 350 370 380 440
(B) Year 2001 2002 2003 2004 2005 2006 2007 2008

Index No. 100 110 90 98 101 110 98 96
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(vi)

(vii)

®)

FRERAT ®1 gftc ¥ R Qe (B) Bl 2001 & 3AER R YH Haend
(A) & MR TR RRIGT BT | 31T 1993 BT MR AFHR Th AfFdferd
ARoft TR BT |

It is desired to splice the second index number (B) with 2001 base to the
firstindex number (A) for the sake of continuity. Prepare you a combined
series with 1993 as above.

Y YA @1 STEERUIT &1 AR dIfRI | ARk Rigid # gaa! @1
ST 2 ?

Explain the concept of standard error. What is its use in statistical theory ?

AIRDH ToT FRIFT F7 8 ? 3AD! &I dPhAIDbI BT qui DI |

What is statistical quality control ? Explain its main technique.

--00--

Q-4417

R-000



